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314 | 11:25 [+ =+ = | 558 = [800M AE 214, ]n
315 | 11:30 |7 = & | 304 = [800M N E RS
316 | 11:30 |7 = & | 3542 [800M Ak 234, 33
317 | 11:30 |7 = = | 404 = [800M Ak 234, 33
318 | 11:35 |7+ & | 454 = [800M Ak 254, 54
319 | 11:35 |75 & | 5042 [800M R
320 | 11:35 |9+ 2 | 758 e [4:38SP(4KG) Y E RS
321 | 11:40 |95 = | 554 = [800M Ak 284, m8n
322 | 11:45 |75 = | 604 = [800M R
323 | 11:45 |75 = | 6542 [800M AE 264,364
324 | 11:50 |9 & = | 70 = [800M Ak |25+, 54
395 | 11:50 |9 & = | 754 = [800M AE 214, 1%
326 | 11:50 |9 & = | 80z = [800M AE 214, m1n
327 | 11:50 |9 & = | 85 = [800M Y E RS
037 16F 12:00 HA* BREE  12:20 H&iB it
g | pER e EET: Fazn |E 4k
328 | 13:00 [+ =+ & | & &= [4%400Miz 4 A |11:00% A4 &
329 | 13:00 [+ =+ & | 40 = [4askHT(4KG) AE 214, Bk
330 | 13:00 |~ @ | 454 % |sasfHT(4KG) AE 214, Bn
331 | 13:10 [+ =+ 2= | 508 e [saskHT(3KG) AE 214, B0n
332 | 13:10 [+ = = | 558 0 [saskHT(3KG) Ak 234, 3¢
333 | 13:10 [+ = 2 | 60 = [saskHT(3KG) AE 224, B
334 | 13:10 [+ 3 2= | 658 0 [saskHT(3KG) AE 224, B
335 | 13:10 [+ =+ 2 | 70# e [saskHT(3KG) YRR
336 | 13:10 [+ =+ 2= | 758 0 [saskHT(3KG) AE 214, B0n
337 | 13:15 |9+ & | & e [4%400Miz 4 AE |11 15xs%
338 | 13:30 |7 = & | 304 %= [3000MmSC AE 214, BmElL
339 | 13:30 |7 = & | 354 % [3000MmSC Y ERT R
340 | 13:30 |9+ = | 40f& = [3000Mm#SC A 234, BBE3L
341 | 13:30 [+ = | 508 %= [3000MmmSC AF 234, BBE3L
342 | 13:30 [ 5 = | 558 %= [3000MmmSC Ak 24 BELn
343 | 13:50 [+ = = | 358 % [2000MmmSC AE 214 R
344 | 13:50 [+ = = | 40% = [2000MmmSC AE 214 R
345 | 13:50 [+ =+ = | 458 %= [2000MmmSC AE 214 R
346 | 13:50 [+ =+ = | 50% %= [2000MHmSC Ak 224 BE2L
347 | 13:50 [ = = | 60% = [2000MmmSC Ak 24 BELn
348 | 13:50 |7 = = | 654 %= [2000MmmSC AF 234, BBE3L
349 | 13:50 [9 % = | 708 %= [2000MmmSC AE |E14 BRI
350 | 13:50 |9+ = | 75% %= [2000MHwSC A |E14 BRI
351 | 13:50 |9 = = | 80# = [2000MmwSC A |E14 BRI




